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Directions: There are in all 21 questions in this question paper. All guestions are
compulsory.
(i) e B FeiRa 3% 396 T 3ifed 2
Marks alloted to the questions are menticned against them.
(iil) T WS B AFYS Uled a T TR ol
Read each guestion carefully and answer to the point.
(iv) e I 1 SfOaedId U9 21 39 J9 & TP WU & 3o} § R fadwey
™ | TR fGee o ITRyREe H fafar| weT dwr 2 9§ 5 a6 Hivad
FaRT e F|
Question No.1 is multiple choice question. Four options are given in
answer of each part of this question. Write correct option in your
answer book. Question No. 2 to 5 are definite answer type questions.
(v) W TRET 6 10 a6 T Pl TR eRTHT 30 TT&al | &lfarm|
Question No. 6 to 10 are to be answered in about 30 words each.
(vi) U9 9T 11 T 17 96 UUD Bl IR AT 80 ] H alfsiv]
Question No. 11 to 17 are to be answered in about 80 words each.
(vii) U =T 18 T 19 &1 3T oI 150 Tl H alfie|
Question No. 18 and 19 are to be answered in about 150 words each.
(viii) T T 20 HE/HAT 3MenRa 72 &, forer IR e @
Question No. 20 is Case/Source based question, to be answered as
directed. ‘
(viii) T2 =T 21 HHaE § Wimfcies sl & tgaee a2 e O et 8 7Y
T fawa qer ARA & I@-AFE] B IR IR § Ger Hifore ]
Question No.- 21 is related to identification and locating of geographical
features on map. Attach the given outline maps of Worid and India
within your answer book.
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1. () Fefea ¥ 2 ok ve e s aer oy 925 & 1

(i) 3rere™ (i) YHeRE wa
(iii) aféror-gat o (iv) garg waer
Which of the following is not an area of sparse population -
(i) The Atacama (i) Equatorial region
(iii) South-East Asia (iv) Polar regions
(@) ol &) BT BEeTe & - 1
(i) T® BIHT (i) SREFT HY
(i) T ol (iv) gorarEsT
Growing of Flowers is called-
(iy Truck farming (ii) Factory farming
(iii) Mixed farming (iv) Floriculture
(1) 96T T e &- 1
(i) deT-afca @ (i) Fe=-uRT &
(i) ORT-deT B (iv) SEET-aieid &
Channe! Tunnel connects to -
(i) London-Berlin (i) Berlin-Paris
(i) Paris-London (iv) Barcelona-Berlin
(&) a9 2011 & SFHUAT & 3R YR & sy R s el e o
(i) 102.8 TR (i) 328.7 B/
(i) 318.2 IS (iv) 121 BRI
Which of the following is the population of India according to the census of
2011-
(i) 102.8 Crores (i) 328.7 Crores
(iii) 318.2 Crores (iv) 121 Crores
(§) AT TR BT 3eTE0T 2 - i
(i) T (i) FERAYR
(i) 3TSTEAT ‘ (iv) IS
Example of Mining town is -
- (i)  Mumbai (ii) Saharanpur
(iii) Ambala (iv) Raniganj
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(B)

(37)

fAder :

1o iy o Prefaea 3 @ o 9@ o 78 a1 s & 1
(i) R (ii) oSt

(i) <EN (iv) T

Which of the foliowing crop is not cultivated under dryiand farming -

(iy Jowar (i) Groundnut

(i) Ragi (iv) Sugarcane

forey 9 & I 7 WS 4RTERT & A ST S - 1
(i) dE iy Hrst

iy fenmmse (iv) 39S

Which of the following mineral is know as 'Brown Diamond' -

() lron (i) Manganese

(iii) Lignite (iv) Mica

Er=fafeg § oF O wEdg Tasd & 1
(iy faerRamEaw (i) 'ER

(i) S (iv) &ftaar

Which of the following is a Land locked harbour-

(i) Vishakhapatnam (i) Ennor

(iiy Mumbai (iv) Haldia

e W -4 % AT 2 TSl ¥, 8 BUA! & AfGY (A) T SR (R) & FY
3 BB Ry T 2| SreteiRad et (i), (i), (i) 2T (iv) § | TR §7T T8
377 It

Directions :In next two parts of Question No. -1, there are two statements labelled

(&)

411 (ITS)

as Assertion (A) and Reason (R). From the following options (i), (i), (i)
and (iv), select their correct answer.
() A @ R AT e & @ R, A & AR IR HA B

Both A and R are correct and R is the correct explanation of A.
(i) AT REH T8 & R R, A B & AT TE BRI €

Both A and R are correct but R is not the correct explanation of A.
(i) A TE & IR R T €l

A is correct but R is incorrect.
(iv) AT R aHI T4 2l

Both A and R are incorrect.

UG (A) ¢ HTIR -5+ T &
PRI (R) : et HGuUT & SMERI 3R ¥ T A0 € 1
[3] [PT.0O.
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10.

11,

12.

1m0

Assertion (A) : Diarrhoea is a water borne disease,

Reason (R) : Water Pollution tauses alimentary canal and stomac
related diseases.

(57) aiff@er (a) wﬁmﬁaﬁmﬁq@a‘mﬁél

BRI (R) ﬁmaﬁmﬁﬁmﬁmaﬁéﬁaﬁwmﬁamﬁwﬁﬁ
uga ) @

Assertion (A) : The population of cities in India is increasing.

Reason (R) : Due to lack of employment, people from rural areas come
to cities in search of employment.

m%%%ﬁﬁ%w%ﬁmi 1

Name any two fields of Human Geography.

e IR mmwaﬁ#@ﬁwmmm ol 1
Name the canal linking the Red Sea and the Mediterranean Sea.
URA & {59 57 8 e affere &7 1

Which state of India has the highest Population?
RS gl 0T Freferm ey SRATR g37? 1
In which year was the first Radio Program broadcast in India?

A e e 2 oRenfe )

What is human geography? Define.

(h)

mﬁwwﬁwﬁaég@mﬁqéﬁ?mﬁﬁm 2
What are the main cOmponents of population change? Mention.

" fIR & TR T Tt % g | g
Name the four major components of human development.

: Wamﬁ?r%*?waﬂamméaﬁmé? 2
What are garrisson towns? What is their function?

ASY e BT HEw gaTRd | 2
State the importance of Metro rail,

HIa {91 qeraiss % Taeg a5y TS | 3
Explain the importance of Human Development Index.

ST AR 3 ey g WIS B YT B aHea| 3
Explain the role of ‘World Trade Organisation' in International trade

I NS 380t o8 wiaperay 2y W B0 3
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15.

16.

L7

18.

12,

. RA § S faa=o o gy < @R T BRI H IoRg D!

3
Mention the factors affecting the population distribution in India.
+fiel &1 T8 et @1 aree ST du g Y et o 3R A - 3
IRT o F 1A 9 geaR % a3 -
5T EE wem gawr | gRamon PAICH HERTS,
g BFTR 3T | 36.9 12.8 34.4 6.9 11.9
(@werel #)

(i) mmwmmﬁ%ﬂﬁmmmﬁ?%‘f ST PBROT Y wee
PifsE|

(i) 3% X[ BT 19 TR T I, T YA Wiy BRTR TR 2| BT BRUT 9
EEIE

Study the table given below and answer the questions that follow -

Wheat Production per hectare in major states of India-

State Punjab| Madhya | Haryana | Karnataka Maharashtra
| Pradesh

hectare (in Quintal)

W
£
O

Production Per 12.8 34.4 6.9 11.9

(i) Name the state where per hectare production of Wheat is highest. Explain

the reasons for this also.
(i) Name the state where per hectare Wheat production is minimum. Give the

reasons for this also.

HRd H T3] & 3130 3] HHETEY | 3
Describe the classification of roads in India.
WRT H a1 YGHUT 3 BRI T 4TS B 3ewrT B 3

State the causes and effects of air pollution in India.

00T HT 7 22 THy T & 3R e sann)

What is plantation agriculture? Describe its main areas and characteristics.

w-ﬂwa‘ﬁm%mﬁawm%ﬁ%mmﬁmavhﬁ%m 5

Describe the Trans-Siberian Railway and Trans-Canadian Railway.

o
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YRAR ST &7 7 femrare ey & v 7o) 31 &) qeiiet, aRalk ik 2ol onfirer £
T 21 FawR, 1975 W HRGTa ST &7 &1 W=k g 8 § R o wizsan
1970 & 2916 § 9% §¥, 4 TET AN b SRR Sesoal 3 Snfhe fsan wa sk ek
ST, FUR 3R fagd & w9 F srawe fwr &1 i e § werar ex ¥ of,
form arqora # ez 3R aret fars & &9 &

Bharmaur tribal area consists of two tehsils Bharmaur and Holi of Chamba district

L Y

of Himachal Pradesh. It is a notified tribal area since 21 November 1975. The
process of development in Bharmaur tribal area began in the 1970s, when the
Gaddi people were included in the seheduled tribes and Bharmaur got the status
as one of the five Integrated Tribal Development Project, in Himachal Pradesh,
The most important contribution of Tribal Integrated Development Sub-plan is
‘infrastructure development in the form of schools, health care facilities, potable
water, roads, communications and electricity. The social benefits include increased

literacy rate, improvement in sex ratio and decline in child marriage.

(@) AR SR & @ feor 7 | :
Where is Bharmaur tribal area located?

(@) Wi foer oRarsHT &1 weeye! aner e R et 3 <are 2
In which areas has the Integrated Development Project made an important
contribution?

(M) FeIiT T Sricw A i i ST @ ey e qen & s e @
aar g2 2

Which tribe benefited from the Tribal Development Program and what are

those social benefits?
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(a)
(b)
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b ST X1 =R | 9 @0 (i), (i), (i), (iv) @9 (v) & =
B 29l T &) AR & T QAT & AR T 3 aeal @ qeen sy a3
G W 37T & 719 forfav - 1x5=5
(i) HRIT BETIR U4 JeaAlicd AETNR &) 38T as anaids 7e7

(iiy &OTSA Te UTer o W &

(iil) O BT THE &I YT

(iv) Hgad 15T MR &1 fdema T

(v) STUH & 55 YL 0o

Feretifenat a1 wRa & fow T i Yt weiny § aufed o 3 e i o

(i) ¥RA BT TIPS TT6 IUEH 59
(i) =T ITET § 3rT 15U

(i) gfexT e SRR &aTs a7y

(iv) FRGUS (5T &1 TG DI &8
(v) FRIEUS & B5 06 TG Ted TR

W= B
RIaI=3

ke

In the given political outline map of the world, five facts are shown by (1),
(i), (i), (iv) and (v). Identify these facts with the heip of information given
below and write their correct names on the fines marked in the map -

(1} Trade Canal connecting the Pacific Ocean and the Atlantic Ocean

(i) Major area of commercial livestock rearing

(i) Major airport of Russia

(iv) Mega city of United States

(v) Major sea port of Japan :

Locate and label the following in the given political outline map of India and
write their names also-

(i) India's largest rice producing state

(i) Leading state in sugarcane production

(iii) Indira GandhiInternational Airport

(iv) Major coal field of Jharkhand State

(V) Any one major tourist city of Uttarakhand
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e : %mﬁﬂ@ammqﬁ%ﬁ?ﬁ&nﬁfﬁ%@mmm%mw%w

Note : The following question is for the blind candidates only in lieu of question
no. 21—
Freferfae ueel & sor Side- 1x10=10
() WWE&%&T@‘&S%MHRE‘Imﬁé’ﬁ%@ﬂﬁ@%ﬁﬁmmi
(ii) ﬁaaﬁm%mug&wwmwm%ﬁmﬁ%ﬁﬂ??
(i) B9 b TP YR 4TS To @7 = iRav|
(iv) ST T5Y IHRPT S UF f2eT TR &1 =1 qase|
(v) SIS Y TR e &1 T i)
(vi) WRE &7 9IS TaeT IUEd 5y P &
(vii) HRS H =7 JeqTE BT 3UT 75T FaTg |
(viil) $TexT 7iTe AR &ar argr @et R 0
(x) STRIEVE & BT 0 T Wies TR &7 9 fiiady)

Answer the following questions-

(i) Write the name of the trade canal connecting the Pacific Ocean and the
Atlantic Ocean.

(i) In which country is the large area of Commercial livestock rearing spread
in the world?

(i) Name the one major airport of Russia.

(iv) Name cne mega city of United States of America.

(v) Write the name of the main sea port of Japan.

(vi) Which is the largest rice producing state of India?

(vii) Name the leading state of sugarcane production in India.

(viil) Where is Indira Gandhi International Airport located?

(ix) Write the name of the major coal field of Jharkhand State.

(x) Write the name of any one major tourist city of Uttarakhand.

Ok K ok
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